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Question 2 

 
7 points (3 + 2 + 2) 

 

 
 

(a)  3  points: 
  One point is earned for a correctly labeled graph of the loanable funds market. 
  One point is earned for shifting the demand for funds curve to the right. 
  One point is earned for concluding that the real interest rate rises. 

 

 
(b)  2 points: 

  One point is earned for shifting the supply of funds curve to the right. 
  One point is earned for concluding that the real interest rate falls. 

 
(c)  2 points: 

  One point is earned for stating that the production possibilities curve (PPC) will shift to 
the right. 

  One point is earned for the explanation that the country’s capital stock increases. 
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AP® MACROECONOMICS 
2007 SCORING COMMENTARY (Form B) 

 
Question 2 

 
Sample: 2A 
Score: 7 
 
The student earned all points in this question. 
 
Sample: 2B 
Score: 5 
 
The student lost 1 point in part (a) for an incorrect shift of the demand curve. A consistency point was 
awarded in part (a) for noting the change in real interest rates. The student lost 1 point in part (c) for failing 
to provide an adequate explanation. 
 
Sample: 2C 
Score: 3 
 
In part (a) the student lost 1 point for the incorrect labeling of the graph but earned the other 2 points for 
consistency. The student lost 1 point in part (b) for a wrong shift of the demand curve but earned 1 point 
for the interest rate change, which is consistent with the shift. Part (c) earned no points because the PPC 
shift is not consistent with the answer in part (b). 
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